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= Qudul Surp. | U
S CPV Ubtjuunudp plipugw P Cunudkup | Lwluy
g Uhwy [ qht
< Yupg
1 33691136 Uulynpphtuwpeent Q< hwp 22 4400 200
2 33690000 Uughunduwq uthply Q< hwwn 2400 4800 2
3 33611350 Uuynpphuwieent 5 Ui S< upjuly 27 1350 50
4 33690000 U838 |nug 9L hwp 210 10500 50
8 33121180 Upjwu dugdwl swihhs uwpp Q< hwwn | 17100 51300 3
6 33691811 Phuwynnhy Q< hwp 10.5 15675 150
7 33691811 Phuwlynnhy dndhy q< hwwn 77 4620 60
8 33660000 Phubiujnn) 480 Q< hwp 48.6 4860 100
9 33671126 Ppndhtipuht pbinhwphy Q< hwp 35 3500 100
10 33661128 Snynqu QL hwwn 392 9016 23
1 33100000 Qyniyndbinp Q< hwwn 6500 26000 4
12 33661136 “Hhpwgn|-"Ywpuhgw Q< upjuy 60 1200 20
13 33631310 THhiyndtuwy Q< nnuh 400 4000 10
14 33631310 Hindbuwy QL upduly 70 3500 50
15 33690000 “Hnibwwy oowpuwly QL 2h? 2500 7500 3
16 33611350 Eulwpn Yuphjubp 9L 22hYy 341 3410 10
17 33690000 Lbyndhghwnpu G4 hwp 60 3000 50
18 33690000 Lhnnjuwjhu < upuy 24 1350 50
19 33621510 “Ywwwnnwph 50 dg G4 nnuh 691 20730 30
20 33690000 “wpnhndwqlpy 75 G< hwp 30 2400 80
21 33690000 Ybnnlw ac [TE] 70 3500 50
22 33690000 Yhunninhdbu QL hwp 10 500 50
23 33690000 YUnpywin < 22hly 192 1536 8 _ |
» Cwdwlwpg wpjwu
24 33622720 sl Q< hwwn 50 6000 120
25 33621100 Lhwwphu QL updwl | 1410 14100 10
26 33690000 Chuwphu punip ac [T 500 1500 3
27 33100000 Lhnwhwp obpdwswih Q< hwwn | 11300 22600 2
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28 33141300 Q< wnnuth 3000 18000 6
oquwagnnpdiwu

29 33690000 Ubquuinu Q< upquy 90 1800 20
30 33690000 Ubundwghu QL 27hy 370 7400 20
31 33690000 Ubuinnyinypwihn < hwp 74 1480 20
32 33690000 Utipuhnny (Mexidol) 5 4; QL updwly | 610 12200 20
33 33691136 Lwuwnphnwh pinphn Q< hwwn 408 12240 30
34 33690000 Unihypt ph $npunt 9L hwp 190 11400 60
35 33611350 Un-owjw QL hwp i 700 100
36 33611350 Un-oww Q< upyuwly 140 3500 25
37 33690000 MNuwwwybpht Q< upduly 80 800 10
38 33671119 Muwpwgbnwing qz hwp 6 900 150
39 33691238 Mhpwgbinwy Q< upuly 45 4500 100
40 33690000 Mnghnnth punip ge R o 3200 10
41 33121200 Mnyuopuhdbitip Q< hwn 4450 17800 4

42 33631610 2nwdlh whbpopuhn Q<L 27hYy 100 1000 10
43 33611350 Ubuwntpuht Q< hwp 20 2000 100
44 33100000 Utunhywjht obipdwswih Q< hwn 700 5600 8

45 33690000 Unpphb nnipnjtiu QL hwp 50 7500 150
46 33690000 Unwypwuwnhu Q< hwp 9 360 40
47 33690000 Uywquwgnu ikl D 1200 100
48 33690000 Uwhpwn 96 Q< oho 1200 1200 1

49 33690000 Uwinpbwynghnh thnoh < nnth 96 9600 100
50 33690000| “MwIhUB ”:If]‘glbpu I 13860 84
51 33690000 Sphuytpuwd 10710 L hwp 250 7500 30
52 33690000 Sbinniywy Q<L upyuwly 190 3800 20
53 33651118 Stdunphwpuntu 1 g Q< upyuwy 402 20100 50
54 33690000 8huyh punip QL nnuh 300 3000 10

®npdwnldwl gbipwntip Contour

= smiasond Plus 50 hwn Accu—nChek Performa i M Ll 92000 9

56 33651135 L1npwddbithuhyng Q< wnntth 260 5200 20
57 33690000 Odbiwpwgn| Q< nwé 15 750 50
58 33611350 Ownpujuwpu < ohly | 2060 4120 2

59 33611120 Swininhnhu QL hwp 85 1750 50
60 33651150 bntynuwgny Q< hwp 65 6500 100
61 33690000 S|npuwnbipu Q< 22hYy 1800 5400 3

62 33690000 Dnjwppent 5 Ug Q<L hwp 15 1500 100
63 33651146 bnipwagnihnnu Q< hwp 10 1000 100
64 33621590 Sbnipnutidhn q< hwp 6.5 195 30
65 33690000 Snipnubivhn Q< upduly 30 3000 100
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